
                                                          mod . 520

GASKET

Article No. Material COLOR Temperature

96170 NBR WHITE RAL 9016 -30° / 110°C

96171 EPDM GREY 70 Shore A -15° / 90°C

96175 SILICON CLEAR WHITE -50° / 200°C

96176 FKM BLACK RAL 9017 -10° / 250°C
Ø 548

O
19,5

3

2

1

5

7

14

9

10
8

11

4

12

6

13

Item Article No. Description Q.ty
1 7TA2100 FRAME 1
2 7CA2101 COVER 1
3 71027 ARM 2
4 9617 GASKET G/TR500 1
5 91016 SPINDLE M16 L=182 2
6 94029 HANDLE VI/165A WITH WASHER 2
7 91029 SPINDLE M12X345 1
8 95218 NUT ESAG. M12 BRASS 1

9 95033 SCREW TE M12X70 2
10 95209 NUT M12 2
11 95421 CIRCLIP §10 2
12 97050 WASHER §30X§12 SP.3 4
13 97251 TUBE 1
14 93009 PIN §12X52 2

02


